
ALBION 
GENERAL CARE

Designed by us, reimagined by you, Albion systems furniture is  
handmade entirely in the UK to an almost infinite range of combinations.  
This is British craftsmanship made to last, for spaces that need to deliver.

ASSEMBLY 
GUIDE

info@workstories.com
+44 (0)20 3735 5224

workstories.com

Desking 

Hub



page 10

TB TIMBER Bench - Assembly Instructions
TB TIMBER LEG FRAMES

    Rack Systems (Engineering) Ltd  1 Wits End Kirkby Mills Industrial Estate  Kirkbymoorside  York  YO62 6PG  Tel 01751 432647  www.racksystems.co.uk

ALBION 
GENERAL CARE

Designed by us, reimagined by you, Albion systems furniture is  
handmade entirely in the UK to an almost infinite range of combinations.  
This is British craftsmanship made to last, for spaces that need to deliver.

• Offer the timber leg components up to the end leg toprail and bolt in place with M8 connector caps 
& M8x40 grub screws though timber leg. Note - the M8 connector caps should be wound fully onto 
the M8x40 grub screws before fitting

• Tophats can be bolted into position using M8x20 button HD bolts once the telescopic beams have 
been fitted

hub / end leg frames

tool required

5mm 
allen key 

thank you for your purchase!This page lists the contents included in the box.  Please take time to identify the hardware as well as the individual components of the product. As you unpack and prepare for assembly, place the contents on a carpeted or padded area to protect them from damage. Please follow the assembly instructions closely. Improper assembly can result in personal or property damage.  2 adults are required to safely assemble this product.

!

airfoil G28T TABLE / 160cm, 180cm, 200cm

cleaning and care
•  Clean surfaces with a dry or damp soft cloth. 
•  Use water-based cleaning agents only.  Do not 
    use oil or solvent based cleaners.•  It is recommended to use coasters to protect   
   surface from heat and water. Do not leave spills       
   unattended.•  Periodically check and tighten hardware as        
   necessary.

Made in China - r01

1/2

www.madfurnituredesign.com

x 01

x 04

x 01

x 22

hardware
components

Pozi  
screw driver



ALBION 
GENERAL CARE

Designed by us, reimagined by you, Albion systems furniture is  
handmade entirely in the UK to an almost infinite range of combinations.  
This is British craftsmanship made to last, for spaces that need to deliver.

hub / intermediate leg frames

page 10

TB TIMBER Bench - Assembly Instructions
TB TIMBER LEG FRAMES

    Rack Systems (Engineering) Ltd  1 Wits End Kirkby Mills Industrial Estate  Kirkbymoorside  York  YO62 6PG  Tel 01751 432647  www.racksystems.co.uk

• Knock the M8 inserts into the timber legs with a hammer or hard mallet, noting the orientation

• Slot the timber leg components up throught the bottom of the intermediate toprail and bolt in place 
with M8x50 connector bolts through toprail

• Tophats can be boted into position using M8x20 button HD bolts once the telescopic beams have 
been fitted

tool required

5mm 
allen key 

thank you for your purchase!This page lists the contents included in the box.  Please take time to identify the hardware as well as the individual components of the product. As you unpack and prepare for assembly, place the contents on a carpeted or padded area to protect them from damage. Please follow the assembly instructions closely. Improper assembly can result in personal or property damage.  2 adults are required to safely assemble this product.

!

airfoil G28T TABLE / 160cm, 180cm, 200cm

cleaning and care
•  Clean surfaces with a dry or damp soft cloth. 
•  Use water-based cleaning agents only.  Do not 
    use oil or solvent based cleaners.•  It is recommended to use coasters to protect   
   surface from heat and water. Do not leave spills       
   unattended.•  Periodically check and tighten hardware as        
   necessary.

Made in China - r01

1/2

www.madfurnituredesign.com

x 01

x 04

x 01

x 22

hardware
components

Pozi  
screw driver



ALBION 
GENERAL CARE

Designed by us, reimagined by you, Albion systems furniture is  
handmade entirely in the UK to an almost infinite range of combinations.  
This is British craftsmanship made to last, for spaces that need to deliver.

page 56    Rack Systems (Engineering) Ltd  1 Wits End Kirkby Mills Industrial Estate  Kirkbymoorside  York  YO62 6PG  Tel 01751 432647  www.racksystems.co.uk

Telescopic Bench Assembly Instructions
B8 SINGLE DESK - Fixed Top

single desk

• Insert all cable grommets and feet

• Insert one end of telescopic beam into end leg (do not fix top hats) - at this point a rubber mallet 
may be required to knock beam into position (take care not to damage beam)

• Repeat with other end leg
• Secure top hats with bolts provided and tighten
• Slide beams to approx distance required to suit top length
• Hold trough fixing plates on inside of trough and screw in connecting bolts through slots provided 

and tighten
• Use fixings supplied with top hats to fix top

tool required

4/5mm 
allen key 

thank you for your purchase!This page lists the contents included in the box.  Please take time to identify the hardware as well as the individual components of the product. As you unpack and prepare for assembly, place the contents on a carpeted or padded area to protect them from damage. Please follow the assembly instructions closely. Improper assembly can result in personal or property damage.  2 adults are required to safely assemble this product.

!

airfoil G28T TABLE / 160cm, 180cm, 200cm

cleaning and care
•  Clean surfaces with a dry or damp soft cloth. 
•  Use water-based cleaning agents only.  Do not 
    use oil or solvent based cleaners.•  It is recommended to use coasters to protect   
   surface from heat and water. Do not leave spills       
   unattended.•  Periodically check and tighten hardware as        
   necessary.

Made in China - r01

1/2

www.madfurnituredesign.com

x 01

x 04

x 01

x 22

hardware
components

Pozi  
screw driver

Rubber 
mallet

HUB FRAME ASSEMBLES THE SAME WAY AS GOALPOST SHOWN ABOVE



ALBION 
GENERAL CARE

Designed by us, reimagined by you, Albion systems furniture is  
handmade entirely in the UK to an almost infinite range of combinations.  
This is British craftsmanship made to last, for spaces that need to deliver.

TROUGH FIXING

 (M8 X 30mm)

 ASSEMBLY

 PLATE

TOP HAT

TOP HAT BOLTS

CABLE GROMMET

TELESCOPIC BEAM

CONNECTOR BOLT
  (M6 X 15mm)

CONNECTOR BOLTS THROUGH SLOTS PROVIDED AND TIGHTEN
•

REMOVE PACKAGING FROM ALL COMPONENTS•
INSERT ALL CABLE GROMMETS•
INSERT ONE END OF TELESCOPIC BEAM INTO END LEG,(DO NOT FIX TOP HATS)•
AT THIS POINT A RUBBER MALLET MAY BE REQUIRED TO•
KNOCK BEAM INTO POSITION(TAKE CARE NOT DAMAGE BEAM.)•
REPEAT WITH OTHER END LEG•
SECURE TOP HATS WITH BOLTS PROVIDED AND TIGHTEN•
SLIDE BEAMS TO APPROX DISTANCE REQUIRED TO SUIT TOP LENGTH•
HOLD TROUGH FIXING PLATES ON INSIDE OF TROUGH AND SCREW IN 15mm

ASSEMBLY INSTRUCTIONS:
 2 PERSON CONFIGURATION

bench / no intermediate leg

• Insert all cable grommets and feet

• Insert one end of telescopic beam into end leg (do not fix top hats) - at this point a rubber mallet 
may be required to knock beam into position (take care not to damage beam)

• Repeat with other end leg
• Secure top hats with bolts provided and tighten
• Slide beams to approx distance required to suit top length
• Hold trough fixing plates on inside of trough and screw in connecting bolts through slots provided 

and tighten
• Use fixings supplied with top hats to fix top

tool required

4/5mm 
allen key 

thank you for your purchase!This page lists the contents included in the box.  Please take time to identify the hardware as well as the individual components of the product. As you unpack and prepare for assembly, place the contents on a carpeted or padded area to protect them from damage. Please follow the assembly instructions closely. Improper assembly can result in personal or property damage.  2 adults are required to safely assemble this product.

!

airfoil G28T TABLE / 160cm, 180cm, 200cm

cleaning and care
•  Clean surfaces with a dry or damp soft cloth. 
•  Use water-based cleaning agents only.  Do not 
    use oil or solvent based cleaners.•  It is recommended to use coasters to protect   
   surface from heat and water. Do not leave spills       
   unattended.•  Periodically check and tighten hardware as        
   necessary.

Made in China - r01

1/2

www.madfurnituredesign.com

x 01

x 04

x 01

x 22

hardware
components

Pozi  
screw driver

Rubber 
mallet

HUB FRAME ASSEMBLES THE SAME WAY AS GOALPOST SHOWN ABOVE



CONNECTING BOLTS THROUGH SLOTS PROVIDED AND TIGHTEN

REMOVE PACKAGING FROM ALL COMPONENTS•
INSERT ALL CABLE GROMMETS AND FEET•
INSERT ONE END OF TELESCOPIC BEAM INTO END LEG,(DO NOT FIX TOP HATS)•
AT THIS POINT A RUBBER MALLET MAY BE REQUIRED TO•
KNOCK BEAM INTO POSITION(TAKE CARE NOT DAMAGE BEAM.)•
REPEAT WITH INTERMEDIATE LEG, AND THEN WITH OTHER END LEG•
SECURE TOP HATS WITH BOLTS PROVIDED AND TIGHTEN•
SLIDE BEAMS TO APPROX DISTANCE REQUIRED TO SUIT TOP LENGTH•
HOLD TROUGH FIXING PLATES ON INSIDE OF TROUGH AND SCREW IN•

ASSEMBLY PROCEDURE

RECTANGULAR

BEAM FIXING

 GROMMET
 ASSEMBLY

TOP HAT BOLTS

TOP HAT

 (M8 X 20mm)

 TOP HAT

INTERMEDIATE

TELESCOPIC BEAM

 PLATE

LEG ASSEMBLY

END LEG ASSEMBLY 

INTERMEDIATE

CONNECTOR BOLT
 (M6 X 15mm)

ALBION GOAL POST ASSEMBLY INSTRUCTIONS
 4 PERSON CONFIGURATION

ALBION ASSEMBLY
Framework with intermediate legs
(Bench desking & Meeting)bench / with intermediate leg

ALBION 
GENERAL CARE

Designed by us, reimagined by you, Albion systems furniture is  
handmade entirely in the UK to an almost infinite range of combinations.  
This is British craftsmanship made to last, for spaces that need to deliver.

• Insert all cable grommets and feet

• Insert one end of telescopic beam into end leg (do not fix top hats) - at this point a rubber mallet 
may be required to knock beam into position (take care not to damage beam)

• Repeat with intermediate leg, and then with other end leg
• Secure top hats with bolts provided and tighten
• Slide beams to approx distance required to suit top length
• Hold trough fixing plates on inside of trough and screw in connecting bolts through slots provided 

and tighten
• Use fixings supplied with top hats to fix top

tool required

4/5mm 
allen key 

thank you for your purchase!This page lists the contents included in the box.  Please take time to identify the hardware as well as the individual components of the product. As you unpack and prepare for assembly, place the contents on a carpeted or padded area to protect them from damage. Please follow the assembly instructions closely. Improper assembly can result in personal or property damage.  2 adults are required to safely assemble this product.

!

airfoil G28T TABLE / 160cm, 180cm, 200cm

cleaning and care
•  Clean surfaces with a dry or damp soft cloth. 
•  Use water-based cleaning agents only.  Do not 
    use oil or solvent based cleaners.•  It is recommended to use coasters to protect   
   surface from heat and water. Do not leave spills       
   unattended.•  Periodically check and tighten hardware as        
   necessary.

Made in China - r01

1/2

www.madfurnituredesign.com

x 01

x 04

x 01

x 22

hardware
components

Pozi  
screw driver

Rubber 
mallet

HUB FRAME ASSEMBLES THE SAME WAY AS GOALPOST SHOWN ABOVE



SHOWROOM

13 Northburgh Street, 
London EC1V 0JP

CONTACT

Info@workstories.com
+44 (0)20 3735 5224

workstories.com


